2800 (between frames)

Curved ‘Custom Blue Orb’ sheeting —
0.60mm BMT fixed in accordance with the
manufactures specifications typical for
cyclone conditions

Folded galvanised —
flashing/qutter

P \

560x140x5 Plate
welded to U/S of B2
Drill 32 diameter hole =
through B2 and Plate

_ R
1 |'|::l'|||':'|':::::||'|':':'L:'L:j'i:
-
i DL
. Y
' I

P1

L
A

P
2788 B2 !

A
Y

s
25

V(g

Y

B1

Inside face
of frame

&

=

-\)\\
Sy

B2

-

/5 B2 6mm clearance

from frame on
each end

B2 =

%_A

@
\A
]

/)
\
4 b
|
|

Cl1— "
N

100x75+(extra required

due to curve of pipe)
6 Plate cleat welded to B1
12 diameter holes

(2M10 8.8/S bolts)

DETAIL / T\
=/

32 diameter holes in B1 for
electrical conduit to run in B2
(on same frame with hole in
Base Plate and Access Cover

on C1)

SECTION /A

NOTES

GENERAL

1.
2.
3.

All dimensions are in millimetres, unless noted otherwise.

Do not scale these drawings. Use figured dimensions.

The contractor shall check, verify on site and be responsible for the correctness of all dimensions shown
on the drawings and discrepancies shall be reported immediately to the Superintendent before any work
proceeds.

These drawings shall be read in conjunction with all other drawings and specifications and with such other
written instructions as may be issued during the course of construction. All discrepancies shall be reported
immediately for decision before proceeding with the project.

All workmanship and materials shall be in accordance with the requirements of the Townsville City Council
Design Specifications and Construction Standards, Standards Australia Codes and the by—laws and
ordinances of the relevant authorities.

During construction any structure and neighbouring structures shall be maintained in a stable condition,
ensuring no parts are overstressed.

It is the contractors responsibility to ensure that the project is carried out in accordance with the
drawings and specifications.

SHELTER

1.

Design wind loadings are in accordance with AS1170.2 for:
Region : C
Regional 5 second gust wind speed Vr 69m /s
Terrain category 2
Shielding multiplier Ms ]
Topographic multiplier Mt ]

Annual probability of exceedance 1/R: 1/500

2 Pack Epoxy paint to be Colorbond colours:

Portal Frame/Purlins: Classic Cream
Expanded Mesh/Strap Bracket: Red Oak

T~ Roof /Flashing/Gutter: Cottage Green
T 90x70x6 Plate (ng_—f;i”;ngﬁsgfnv)v STRUCTURAL STEELWORK
Flongated hole | | cleat welded to B1 at each corrugation 1. Al structural steelwork to be in accordance with AS4100, AS/NZS4600, AS/NZS1554 and AS3828.
M10 bolt : : 200x100x3 plate Access Cover 2M1Ot§'8p/15 pbuilﬁi Folded galvanised 2. Al steel to be:
1 | | over 180x80 hole on internal flashing/gutter e Grade 300 plus for hot rolled sections
S0x5 strap bracket I I face of column e Grade 300 plus for welded sections (WB, WC)
< ’§§?‘, :_ Jl (megsured around curve) e Grade 300 plus for merchant bar (round, square and flat)
- o :§§§§§ bl — — g ﬁ-hrilc?d hsegreivoscket head metal 3 smm end cap e Grade 250 for plates
~| © e 8 plate welded to B e Grade C350 for RHS, SHS and CHS.
> h 0:§§§§§ 3. Commercial grade bolts to be in accordance with AS/NZS1111 and AS4100. High strength structural bolts
o ‘::2:0‘ DETAIL /2\ DETAIL / 3 \ to be in accordance with AS/NZS1252 and AS4100. Welds to be in accordance with AS/NZS1554 and
\ _/ \ _/ welding electrodes to AS/NZS4857. The inspection/testing of welds to be in accordance with the structural
£l ted hol steel specification.
1 < foc;nﬁ/ﬂg bol?te 4. All details, gauge lines etc. where not specifically shown are to be in accordance with AISC design
c ded Mesh P | capacity tables for structural steel and AISC standardised structural connections.
L0 xpande ) °s ane 5. All welds to be Category SP and to be 6mm continuous fillet from E48XX electrodes, unless noted
N Thickness: 3.0 )
Flongated hole Strand Width: 4.5 otherwise.
M10 bolt Opening Size: SWM 35, LWM 76 B 2200 - =) 6. For welds and bolts other than as noted above, the following is used:
Welded to strap bracket - To underside edge of B1 - _ Welds — symbols in accordance with AS1101.3
MESH PANEL DETAILS O Bolts — designated by the number, diameter, grade and tightening procedure. e.g.
T e 4M16 4.6/S denotes 4 no. M16 commercial grade bolts, snug tight
2900 | 9 5 Plate gusset e 6M20 8.8/TF denotes 6 no. M20 high strength structural bolts fully tensioned in a no slip joint
= . N e 6M24 8.8/TB denotes 6 no. M24 high strength structural bolts fully tensioned in a bearing joint
' I [T 1=—250 Sg x 25 Plate (some slip allowed).
75 9. Structural steelwork to have the following surface treatment in accordance with AS/NZS2312 and the
specification:
ELEVATION
ELEMENT | SURFACE CLEANING PRIME COAT TOP COATS
S - 250 Sq x 25 Plate Frame Blast clean Hot dip galvanised to Powder coat colour to
Folde.d gOlVOnised A i /7 %EM?g]rqeée)’Shgéelfs) Sa 2.5 AS 1658 Architects SpeCIfICOtIOHS
| —flashing/gutter | Mesh Panel I ' ’ 75 microns zincanode 304 | 50 microns quothone R
5800 | Refer Detqil T —49— _— 50 dlgmeter ho]e for Frame Blast clean by D'ulux or equivalent by Dulux or eqU}voIent
- — 3| 2 (C@; (electrfoll conduf; te) (Alternative) Sa 2.5 125 microns duremax GPE (colour to architects
N| — one hole per shelter by Dulux or equivalent specifications)
| I M) Y
o i = /\L Burlins G450 (m|n4|;noum zzmc coating
5 © 20x20 chamf m
| |MARK|MEMBER SIZE| ~COMMENT | | R e <20 chamfer o)
o 0
O C1 100x5 CHS o8 S %8 - o Members to be encased in concrete or fire sprayed must not be painted.
N g o E PLAN 10. The ends of all tubular members to be sealed with nominal thickness plates and continuous fillet welded.
' B1 100x5 CHS ' = gg BASE PLATE DETAIL 11. All hot dip galvanised members to be provided with vent and drainage holes in accordance with the
© o 9 galvanisers recommendations.
B2 100x50x4 RHS EU 12. Where members shown on the structural or architectural drawings are required to be curved, bent or
Dg o ] rolled the contractor shall be responsible for the methods required to achieve the required shapes without
B3 50x5 CHS /3\ EO]'; CoTnCCéet(?t Slc?bdc”zjd joint g([a)t_ogsgo localised distortion of the members.
10 dia drain holes \ 2/ erer standaar rawing 13. The contractor shall provide and leave in place, until permanent bracing elements are constructed, such
' P1 C10019 on U/S at 900 cts ' =8 temporary bracing as is necessary to stabilise the structure during erection.
\ 14. The purlin and girt design has been based on Lysaght steel purlins. Alternative purlins of equal or greater
e e ! e ! - load capacity may be substituted only on written approval from the superintendent.
H H H H w |\ e 15. Purlin and girt bolts and bridging shall be in accordance with the manufacturers details.
_ — | - |
L 4
EOETESE%ENCE DRAWINGS Full Size AT DRAWN: DESIGN OFFICE CHECKED: WJP TY STANDARD
SD-535 — J POLE, TIMETABLE DISPLAY CASE, RUBBISH BIN AND SLEEVE STAN DARD_Cl BUS SHELTER
INSTALLATION DETAILS DRAW'NG
SD-580 — STANDARD-CITY BUS SHELTER STEEL WORK CONNECTION DETAILS i ' : Origi i -
STANDARD CIT Design Engineer Approved: Original signed by J EL—KHOURI FRAM'NG DE |A”_S B
B | 20/4/2015 |REVIEW AND REARRANGEMENT OF DETAILS 27085 = S ADARD o BUS STOP URGAN LOGATION LAYOUT BETAILS Not to scale Date: 30/4/2015 o TRANSPOR
A |24/10/2011| ORIGINAL | f
24/10/2011] ORIGINAL ISSUE - Manager Approved: Original signed by M WILKINSON Townsville
No. DATE DESCRIPTION AP'D Ph: (07) 4727 9000 SHEE-l- 1 OF 2 SD 57 5 B
REVISIONS Date: 5/5/201 5 www.townsville.gld.gov.au -

U




